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| A U ¥ »x10-° kb & [cm] T 0 A [radian]
afr | Ewore [ Homberg | % w |00 | Homberg | % Bt i |Hombers | % mt i
0 0 0 0 0 0 0 0
1/8 0.032 0.0315 0.046 —0.0005 —0.0002
1/4 93 97 105
3/8 0.077 0.0757 0.087 -—0.0011 —0.0012
FH b | 12 124 126 150
5/8 0.077 0.0757 0.086 —0.0011 —0.0010
3/4 93 97 109
78
1 0 0 0 0 0 0
0 0 0 0 0 0 0 0
1/8 0.018 0.0190 0.017 0.0004 0.0003
1/4 52 57 63
3/8 0.043 0.0459 0.054 0.0009 0.0007
FHi c | 1/2 71 80 70
5/8 0.043 0.0459 0.052 0.0009 0.0010
3/4 52 . 57 58
7/8
0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0
1/4 20 30 18 0.013 0.0186 0.012 0.0005 0.0008
EHi d| 1/2 27 43 32 0.018 0.0241 0.023 0.0007 0.0013
3/4 20 30 31 0.013 0.0186 0.014 0.0005 0.0006
1 0 0 0 0 0 0 0
i : = . 0§ A X078
vlle ml;é’so:nnet Homberg ES
1/6 — 5 —1 — 6
Bk 1 1/2 —37 —36 —31
5/6 —25 —28 —20
1/6 -7 0 —12
BN 2 1/2 —52 —47 —50
5/6 —35 —38 —33
1/6 -5 —1 -5
T 3 1/2 —37 —36 —35
5/6 —25 —28 —20
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g2 FEN 6 KESTHHE ¢=833ke/em ML 2 BH

Wk g 5 x107¢ N [em] — R DA [radan]
all mgzsoélndet Homberg | 5 Bt f mgzsglnnet ( Homberg 1 2 B {8 |Homberg | % Bt &
0 0 0 0 0 0 0 0
1/ 94 97 98 0.059 0.0587 0.058 0 —0.0002
FHi oa | 1/2 125 126 121 0.084 0.0826 0.082 0 0.0001
3/4 94 97 97 0.059 0.0587 0.055 0 —0.0001
1 0 0 0 0 0
0 0 0 0 0 0 0 0
1/8 0.031 0.0316 0.047 ~0.0001 0.0001
1/4 90 79 70
3/8 0.074 0.0743 0.084 —0.0003 —0.0003
FEHT H | 1)2 120 110 130
5/8 0.074 0.0743 0.081 —0.0003 —0.0004
3/4 90 79 80
7/8
1 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0
1/8 0.025 0.0255 0.033 0.0002 0.0004
1/4 73 79 68
3/8 0.060 0.0610 0.059 0.0005 0.0010
EHMF o f 1/2 98 100 90
5/8 0.060 0.0610 0.065 0.0005 0.0008
3/4 73 79 75
7/8
1 0 0 0 0 0 0.0005 0
0 0 0 0 0 0 0 0
1/4 52 57 45 0.033 0.0354 0.029 0.0004 0.0005
XM 4| 12 69 80 65 0.046 0.0501 0.040 0.0005 0.0005
3/4 52 57 49 0.033 0.0354 0.025 0.0004 0.0001
1 0 0 0 0 0 0 0
i o ¥ AHXI10-¢
wte ® | e T Srombers | % 8
1/6 33 36 30
HEHT 1 1/2 34 36 30
5/6 -6 -8 4
1/6 47 46 35
T 2 1/2 49 46 30
5/6 -9 4 —4
1/6 33 36 30
w3 12 34 36 31
5/6 —6 —8 10
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